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Time: 3.00 Hours MATHEMATICS 7 ‘Marks; 100
_ " PART-1I Gl
Note : 1. Answer all the 14 questions. ..o 14Ax1=14
2 Choose the most sultable answer from the glven four alternatlves
1) Let f(x) = Vi+x*then = |
‘ a) f(xy) = f(x) fly) b) f(xy) = f(x).f(y) <) f(xy) < f(x) f(y) d) None of these
~ 2)  Ifthe HCF of 65 and 117 is expressible in the form of 65m - 117, then the value of m is
. a)4 SUENIRAN ) I8 o1 A)3
3) An A.P consists of 31 terms. If its 16 term is m, then the sum of all the terms of
~ thisAPis ' i
a)i6m b) 62m c)31m \ d5m
4) If (x-6) is the HCF of x2 - 2x — 24 and-x? - kx - 6 then the value of K'is
a)3 b) 5 ‘ €).6' ., s— d)8
5) Graph of alinear polynomraf isa ) _
‘ a) Circle b) Parabola c) straight line’ * "~ *h, o) Hyperbola
6) The number of points of intersection of the quadratlc polynomlal x2 + 4x + 4 with
the X axisis » | ,
a) 2 . b) 0 . : c)0or1 d)l
7) The perimeters of two similar triangles AABC of APQR are 36¢m and 24cm
respectlvely, If PQ = 10cm, then the length of AB is
a) 6Zcm ‘ - b} 10‘/_ ‘ c) Gﬁgcm : d) 15cm
8) Two poles of heights 6m & 11 m stand vertlcally on a play ground: If the
distance between their feet is 12m, what is the distance-between their tops?
a)13m b) 14m c)12.8m - d) 15m
9) The area of trlangie formed by the points (-5,0), (0,-5) and (5,0) is
a) 25 sq.units b) 5 sq.units c) 0 sq. unlts d) None of these
1
10) If slope of the line PQ is B then slope of the perpendlcular bisector of PQ IS
ao . b) -3 = -c)ﬁ | DB
i1) A toweris 60m high. Its shadow is x metres shorter when the sun's altitude
is 45° then when it has been 30°, then x is equal to . .
a)43 m b) 43.92m- - ¢c)45.6m - d) 41. 92m
12) The total surface area of a cyclinder whose radlus is 3 of its height is ... sq.units.’
| y 56:zh2 : 9 7 2 |
a) 24xh? ' b) - Q) ’;h d) B”h
13) When we divide surface area of a sphere by the sphere's volume, we got the
answer as 3 What is the radius of the sphere? ' .
a) 54cm .. b)izem . €)9cm - d)24cm
14) If the standard deviation of X, y, z |s P then the standard deviation of 3x.+ 5,
3y +5,3z+5is ‘
a)P+5 - b)3p+5 c)9p+15 ' d)3P
. PART-II o -
e 10x 2220

Answer any 10 questions: [Qn.No: 28 is compulsory]

15)

16)
17)

18)

19)
20)

LetA={1,2,3}and B = {x/ xis a prime no. less than 10}

FmdAxBandB A.
Given f(x) = 2x = x2, find (i) f(1) (i) f(x +1)
If P/ xP;2 xP3? xPf4 =113400 where P,, P,, P, P, are primes is ascending order

and X, X;, X3, X4 @re integers, find the value of Pl, Pz, P3; Py 8 Xy, Xp1 X35 Xy
Find the sum 3 + LHgh 4,

Reduce the expressron £ - to its lowest form
INAABC, D and E are ponnts on the sides AB and AC respectlvely Show that
/

DE |]. BC if AB = 12cm, AD = 8cm, AE = 12cm and AC = 18cm

2
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21) The line P passes through the -points (3,-2) (12, 4) and theline q passes

)OI - llel to g?
through the points (6, 2Yand (12, 2). IsP Parpli&’ 10 G+ ey
22) The equation of a straight line is 2(x - y) + 5= 0. Find its slope, inclination
and intercept on the y axis. ‘ _ o e
23) Matrix A has 'a' rows and 'a+6' columns and matrix B has b’ rows and'8-b
columns and if both products AB and BA exists find a &b.

cos 8 —-SecH-Tan b

24) Prove the identity 7 =—5 o _
1+sin® . R _ _

25) If the total surface area of a cone of radius 7cm is 704cm<, the n find its slant height.

cone that can be carved out of a solid

26) Find the maximum volume of a
hemisphere of radius 'r' units..

1
27) If P(A)=%, P(B)=%,P(AuB)é§ then find P(AnB). | |
28) The number of'vozlleyball games that must be scheduled in a league with. n

teams is G(n)= M N where each team plays with every other team exactly

once. A league scl%edules 15 games. How many teams are in the league?
: PART -1I1
Answer any 10 questions: [Qn.No: 42 is compulsory] , 10x5=50
- 29) LetA = The set of all natural numbers less than 8, B-= The set of all Pime numbers
less than 8, C = The set of even Prime number. Verify that Ax(B = C) = (AxB) - (A<C)
30) Find the sum ofall natural numbers between 300 and 600 which are divisible by 7
31) Find the sum of the series (23-13) + (43-3%) + (63-53) + .. .to (i) nterms
: (ii) 8 terms .
32) Find the GCD of the Polynomials 63 — 30x2+60x-48 and 3x3 -12x2 +21x-18.
‘a b 1 0
33) If A=(c d} and I=(O 1) then, Show that A% - (a+d) A = (bc - ad) I, -
34) Ifa,p arethe roots of the equation 2x2-x~-1 = 0, then form the equation whose roots are
(i) a?B, B2 (i) 2a4B, 2B + « ~ '
35) State and prove Angle bisector theorem (ABT)
36) P and Q are the mid points of the sides CA and CB respectively of a AABC,
right angled at C, Prove that 4(AQ? + BP2) = 5AB2. ,
37) Find the value of K, if the area of a quadrilateral is 28 sq.units, whose
vertices are taken in the order (-4,-2) , (-3, k) (3, -2) and (2, 3).
38) If the angle of elevation of a cloud from a point 'h' metres above a lake is 9,
and the angle of depression of its reflection in the lake is 6,, Prove that the

height th he cloud is located f h , ~ h(tan 8, +tan 6,)
eight that the cloud is located from t e ground is tan B, — tan 6,

39) Nathan, an engineering student was asked to make a model shaped like a
cylinder with two cones attached at its two ends. The diameter of the
model is 3cm and its length is 12cm. If each cone has a height of 2cm, find

~ the volume of the model that Nathan made. _

40) A right circular cyclindrical container of base radius 6cm and height 15cm is full of ice
cream. The ice cream is to be filled in cones of height 9cm and base radius 3cm,

. having a hemispherical cap. Find the number of cones needed to empty the container.

41) Two dice are rolled together. Find the probability of getting a doublet or sum of faces as 4.

42) Find the equation of a straight line through the jntersection of lines 5x - 6y = 2,

P ﬁ&x + 2y = 10 and perpendicular to the line 4x - 7y + 13 = 0. Ci
PP % -
PR.M,| Sy R N&\RT v v llar. Lo 78

Answer both the questions. ' e 23, 2x8=16
43) a) Construct a triangle APQR such that QR = 5cm, ZP =30° and the altitude
from P to QR is of length 4.2 cm ‘ (OR)

b) Draw _the two tangents from a point which is 10cm away from the centre
of a circle ofyradlus 5cm. Also, measure the lengths of the tangents.
44) a) Graph the following linear function y = Lx. Identify the constant of variation
and verify it with the graph. Also (i) Find'y whenx =9 (ii) Find xwheny = 7.5.
(OR)
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